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General Instructions :

Read the following instructions very carefully and strictly follow them :
(@) ]

This question paper comprises 89 questions. All questions are compulsory.
(1) This question paper is divided into five sections — A, B, C, D and E.

(iii) Section A — Questions No. 1 to 20 are Multiple Choice Questions. Each
' question carries 1 mark.

(iv) Section B - Questions No. 21 to 26 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should be in the
range of 30 to 50 words.

(v) Section C - Questions No. 27 to 33 are Short Answer type questzons Each
question carries 3 marks. Answer to these questions should in the range of
50 to 80 words.

(vi) Section D - Questions No. 34 to 36 are Long Answer type questions. Each
question carries 5 marks. Answer to these questions should be in the range of
80 to 120 words.

(vit) Section E — Questions No. 37 to 39 are of 3 source-based /case-based urnits of
assessment carrying 4 marks each with sub-parts.

(viii)

There is no overall choice. However, an internal choice has been provided in

some sections. Only one of the alternatives has to be attempted in such
questions.

SECTION A

Select and write the most appropriate option out of the four options given for

each of the questions no. 1 to 20. There is no negative markmg for incorrect
response.

, 20x1=20
1. Given below are the structures of some hydrocarbons. Select the two
structures which are related to each other from the given options :

H H H H H H H
& H-G_¢_l=o_H ) H-C-G-C_bom
HH O OH B oH OH N
P 5
H H IR
H—C—H H H H
H
" (A) (1) and Gv) (B) (i) and (iv)
(@) (i) and (iH) (D) (i) and (iii) -
+31/3/2* e # [ P.T.O.]
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2.

Choose the i T
1 e the. incorrect statement about the common reaction used in
hydrogenation of vegetable oils.

(A) It is an addition reaction.
(B) It takes place in the presence of nickel or palladium catalyst.

(C)  The product contains only single bonds between carbon atoms.

(D) It-is an addition reaction which occurs in the presence of an acid

catalyst.

Consider the following chemical equation :

pA1+qH20 —“:")rAl203+SH2
n, the values of ‘p,d, T and ‘s’ must be

To balance this chemical equatio

respectively :
(A) 3, 2,2,1 B) 2,33, 1
(© 2313 D) 3,1,2,2
Study the following cases :
i) CcuSO, + Mg —>
Gi) FeSO.+Fb B
(1ii) CaSOy + Al —
(iv) ZnSOy + Ca — | ' |
The case/cases 1 which new product(S) will form is/are:
(A) Only @)
@) Only (iii)
wy @ and (v)
i), (i) and (Gv)
® - mily of salts

[P.T.O-]
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choiceg Provided.

Olumn-J
I and select the correct option fr
a.  Site Ticats \
e of ?ertlhsatlon of egg with the sperm %
C- STte of Implantation of embryo El’)) Vagina
- 1te of entry of sperm ; o et
ot perm into the female reproductive (i) Oviduct
d.  Site throu i |
gh which the waste materia] ;
by the developing embryo are removl(;lg - SR | ) F racenta
7 (v)  Cervix
(A-) a'(ii)9 b'(i)a C-(V)a d'(iV) . B

(B)  aiii), b-(3), c-(v), d-(iv)
(C)  a-(v), b-(ii), c-(ii), d-{)
(D) - a-(iii), b-(i), ¢-(@), d-(iv)

1. The part of the hind-brain controlling involuntary actions such as
salivation and vomiting in humans is :

(A) Cerebellum (B) Cerebrum
(C) Pons . (D) Medulla
8. Select a pair of bisexual flowers from the following :

(B)- Hibiscus and mustard

Papaya and mustard ;
= o (D) Hibiscus and watermelon

(C) Hibiscus and papaya

r concentration in the areas of

9 The plant hormone present in greate

1dly dividi Isis:
rapidly dividing cells 1 5 Cotokinin

(@) 'gfin ins = (D) Abscisic acid
©) ibbere

face to take in food 1is

i ] sur
like extensions on the cel

10. Temporary fP8eT
formed in : : (B) Amoeba

(A) Paramoecium . RhizopUS
(©) Leishmanit [P.T.0.]
B &
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’(A/Ax) ‘3R
(C) ance will be
9R B) 6R
(D)
12, : 27R
Which one of the follow;
(A) Tt sote | Ing statements is not true ab
s itself in north-south directi out a bar magnet ?
(B) It has att : ion when suspend
ractive po : . ed freely.
| power for iron fil
(C) It produces 1 , nes..
% Th magnetic field lines.
o ‘The direction of magneti :
gnetic field lines insi
north pole to its south pole. - s inside a bar magnet is from its
13.  Absolute re .. |
ute refractive index of water and glass is 4 and L respectivel
the speed of light in Jass i 8 3 2 ively. I
| . g g‘ass is 2 x 108 m/s, the speed of light in water i -
A rid ‘ .
IC LS : , (B) ?ém/s
16
© g ® whs
14. When a beam of white light passes through a region of very fine dust
particles, the colour of light that scatters the most in that regionis:
(A) red TR | - (B) orange =
| jﬂ)/ blﬁe - , (D) yellow
15 The stréngth of the magnetic field produced inside a current carrying
-~ long straight solenoid does not depend upont
A Area of cross-section of the tube of the solenoid
. the solenoid
(B) Number of turns Per anit length 17 F jenoid
‘ : 0
(®) Direction of current flowing ghrough the ¢
- | ' oid
(D) Material of the cOr® o Soalen # [P.T.O-]
v 12 [DF '

(} Scanned with OKEN Scanner



PP ——

16.  Other than ¢ 1C component
s

are not required to make
self-sustaining System ?
(1) Aquatic plants ang
(i1)  Terrestrial plants 5
(111) Decomposers as ba
(iv)  Consumers as clow
n fishes ang sea i

o~ . . urchingy.
. (}) and (%?r_) (B)  (ii) and (ii1)
(€©) (@) and (i) (ii) and (iv)

] iv

e abiotj

\

PO aqua, ?vhlch f)f the given biotic componentg
Tlum with sma]] herbivoroug fishes g

nd terrestrig] animals_ -
cteria ang fungi

For Questions number 17 to 2
Assertion (A) and the othe

Both Assertion (.A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

{B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).
-(C)  Assertion (A) is true, but Reason (R) is false.
(D) - Assertion (A) is false, but Reason (R) is true.

17.  Assertion (A) : In our actions of writing or talking, our nervous system

communicates with the muscles.

~

Reason (R): Cranial nerves and spinal nerves form the peripheral
- nervous system.

18.  Assertion (A) : Use of jute bags for shopping reduces pollution. -

Reason (R): Jute is biodegradable and its bag may be reused as and
when needed. -

19.  Assertion (A) : Hydrogen gas is not evolved when a metal reacts with
nitric acid.

" Reason (R): Nitric acid is a strong red\!ucing agent and reduces the
hydrogen produced in the reaction to water.

' intersect
20. Assertion (A) : Magnetic field lines around a bar magnet never in
. S .
- each other. i
Magnetic field produced by a-bar.magnet is
that has both magnitude and direction.

[ P.T.O.]
11
#31/3/2*

Reason (R) :
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SECTION B

\

Questions no. 21 ¢
0 26 are Very Short Answer Ty
: pe questions.

21.

22.

23.

24.

25.

26.

(a)

List the i
possible
i, Tiastat sources of energy required in d i
e any one with a suitable e 1 eEEpeElion
xample.

OR 2
(b)  What is observed when hydrated fi
heated in a dry boiling tube ? Gi ; rrous sulphate crystals are
. 1 .
of the reactions(s) that occur(s) ve balanced chemical equation(s)
Giving reason, st 2
, state the advanta :
i ge of using baki )
soda for the preparation of bread or cakes g baking powder over beicng
' 2
State the main functi )
ct1 .
walls ? on of arteries. Why do they have thick and elastic
2
(a) Explain how the proteins control the ‘characteristics’ in an
011'gan1sm with the help of an example of ‘short height’ trait in pea
plant.
(b) Name the information source of making proteins in a cell. 2
(a) A student has difficulty in reading his textbooks but can read the
plackboard clearly while sitting in the last row. Name the defect of
vision the student 1s suffering from. List two reasons due to which
this defect arises. Write the nature of the lenses required to correct
this defect | .
OR ¥t
' ' . )&
(b) Draw q ray diagram to show the path of a 18y ;)f h,ciht le.lllslﬁ
i of a trianguial glass Pt ,
obliquely on one °f the refractin® feifes CR Rt
and mark the angle of deviation on 2 | t Ud
. tor of 40 € connecte
srent of 92 Atoa resis .
A voltage source sends acc Tt the olectrical enersy supplied Y the
across it for 5 inutes
source
[P.T.O-]
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Questions no.

My

27. How is a double displacem
e

s g exam 1
equations. Ple 1n the f
orm of halanced chemical
: 3
28. ()  Common salt is an important ’
daily use. State Taw material for various chem;
. . ate 1n brief th micals of
(1) Sodi . e method of opr .
lum hydrox1de, and (ii) Sod preparation - of
common salt. Write balanced hq 1.um hydrogen carbonate from
that occur. €d chemical equations of the reactions
, ‘ 3
OR ‘ '
(b)  Design :
: gn an eX?erlmental set-up to demonstrate that “Alcohol and
g.u_cose contain hydrogen but are not categorised as acids”. Also
- give the reason to justify this fact. 3
29. (a) Enlist any two nitrogenous waste products removed from the blood
| of human kidney. |
(b) Name the capillary cluster formed by the branch of renal artery in
the Bowman’s capsule.
(¢c)  Depict in the form of a flow chart the path of the urine formed in
| each kidney until it is finally passed out through the urethra. 3
30. A pure pea plant having round (R), yellow (¥) seeds is crossed Witlh
. another pﬁre pea plant having wrinkled (r), green (y) seeds. Subsequently
F, progeny is self-pollinated to obtain Fg progeny:
‘ i like ?
(a) What do the seeds of F1 generation look like o
: : binations of traits in seeds of Fy generation.
(b)  Give the possible combin
so give their ratio. . ation of traits in
Ao f obtaining seeds of new combination 0 5
c State the reason 0
)/ Fo generation- . i [ P.T.O.]
*31/3/2*
> /
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g1. A person has to k .
from the eye for e:f rsadmg material much beyond 25
m
suffering from. List tW(()) rtable reading. Name the defe:;:n Oicsa}-r ?t 521‘3111)
. causes res . ] vision he 1is
a labelled dia ponsible for arising of thi
gram showin ‘ g of this defect. Draw
eye-glasses. Ar g correction of thi .
e these glasses convergent or divergent olfsl' }(11: ieCt e
1gnt !

[NV)

g9, (a) Draw a labelled diagram to sh
Jines on a horizontal whi show the pattern of magnetic field
conductor passin ite .board due to a straight current carrying
o cirmrort in thg Perpendlculsi\r through its centre. If the direction
Jirect : e cqnductor is vertically downwards, mark the
ection of (i) current, and (i) magnetic field lines.

(b)  State the right hand thumb rule and check whether the directions
e with this rule.

marked on the diagram are in accordanc

« . ) . . . ] '
(a) In a food chain energy flow is unidirectional.” Give two reasons for

33.
the'g'iven statement.

cer level, how much
s ? Give reason

® I 10,QOO J energy 18 available at the produ
energy will pe available t0 the secondary consumer

to justify your answer.
SECTION D

are Long Answer{Type questions.

g no. 34 to 36
on of light through

Question
“In refracti

emergent ray ! ain it

1 » Why ? Explail

incident 1Y P ray of light falls pormally
. ? Draw. diagram.

ha ens
What pP angular glass prism

34. () 1)

. he poSlthIl 0.
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i) -
® @ A student wishes to st
- ) stud :
mirror using candle {1 y the image formation by a concave -
image formed by th El.me as object. State the type of th
image formed, if e mirror and mention the change in thz
o | , if any, that he observes wh N
is gradually m when the candle ~ LA L
Draw a ray dia oved away from the pole of the mirror /j g
bi ] gram to show the image f i '
object distance is ol ormation when the
y equal to the radius of curvature of

—

the mirror.

-yview on an qutomobile hasa .7~
/

(ii) A convex mirror used for rear
located at 6-0 m from this

focal length of:3:0 m. If s is
mi :
irror, use mirror formula to find the position of the image Jﬁj
of the bus as seen in the mirror. | o X5
) | k}\\) ‘
35. (a) (1) Consider the following metals gN g‘\f 7/

() 1\ syt &

Ka Ca, A]-, Cu, Ag’ Fe L

Select from the above metals, 2 metal which

I. does not react with oxyger everi at high temperature:

II eacté with oxygen 2 ordinary temperature an
formé a rotective oxide layer which prevents th
metal from rther oxidatio

111 catches fire whe? kept 1D the ope | y

| t meta is coa
v oes 1O in o ygen put the ho
' ith 2 plac colour oxide lay
d
| g ? With the hel fdbrcll.ancaen
1 . i is
(ii) W'hat are & P 01:5 ; ghat 1umlﬂ1um
hernical qu?t |
ophote” oxid® | S
1kall® o Give O example-
g ¢ are ? all®
(i) a
OR [P.T.O ]
M #
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) o) ” e el \
| Process of tp O-f balanced chemical equations state the
o extracting (I) mercury from its ore called dinstabas,
nd (I1) copper from its sulphide ore.
(1)

Silver and copper articles slowly lose their shiny surfaces
when exposed to air. Name the compounds formed on

(D) silver articles, and (II) copper articles in the form of

COating_ |
6. (a0 ()  Identify the parts X’ and Y’ in the figure I
duced by the
th yellowish coloured structures prodt
e
Gi) ~Name ¥
pai't 1abelled as Y. . o
he name of the process bY
.oy Write the -
ol d to the part labelle o 5
B d f rmation in & flowering P
f seed 10
) Explain the process 0
(v
N " [P.T.O.]
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() @  Name the type of
. € oI as
given figure, exual mode of reproduction shown i
n in the
@ (b
| (b) (c) (d) (e) ®
(i1)

Identify the unicellular organism in the diagram.

ny two advantages of asexual r :
: eproduct
reproduction. P ion over sexual

(iv) Name and explain any one mode of asexual reproduction
| observed in Hydra. ' 5

SECTION E

uestibns are Source-based/Case-based questions. Read the case

The following 4
carefully and answer the questions that follow.

CA? 3oy ’ two sélts U_Sed '
g7. ‘A’ and B’ are . .4 below are

pathing also Four test tubes L 11, 11l and IV as mentione
taken |

I Rain water + golution of salt ‘A

11 Rain water + golution of salt’ ’

ater + . -
halken 0D€ by almost identically ;01 the same U
' ey i g noted.
o e o ;:Of o f rmed e o 8 he foam formed the
s e the f test tubes 18 t
(a) 1 which r)one 1
| ini d sal B

alt A an
{b) gferentid petweer ° o |
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38.

39.

© O What o MR
an al > esters ? Whay
th alkali (say Sodium}? happens when an
€ reaction ydroxide) ? Give ch e.Ster reacts with
emical equation for
OR 2
() (i)
Xhat 1S the cause of hardne
. Sdel'ved that while bathing ?E of water ? Sometimes it ig
nd an 1nsoluble substance is fim 18(1 tormed with diffioulty
an 3 rme
write the cause of its formation, FIEuIe e dnbtitee
A person while climbing 1 ?
His bod imbing up a rocky hill comes into a panic s
is body starts reacting in a “flight-or-fligh panic state and fear.
-0r- ” e ¢
dangerous and stressful situation ight” condition to adjust to the
Based on the above facts, answer the questions that follow.
(a) (1) Name the hormone secreted in the blood of the person in this
situation. 2
| OR
(a) (i) Name the source gland of the hormone secreted in this
) condition. | 2
(b) = State any two responses in th body of the person as 2 result of the 1
secretion of this hormone. . .
(¢) How does the action of the chemical signal in tirms of hormones 1
differ from the olectrical impulses Via nerve cells t
) . . . ircuit consisting of an ammeter, &
s shown in the disgrams &% GECTIC ey with o gep XY WS UL
voltmeter, 4 ‘éeus geter reading,s were recorded in the observation table
. en below
[ P,T.O- ]
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Based on the observations, four V — I gra
figure were drawn. Study these graphs.

phs A, B, C and D ag shown in

N
1 D
C
@
9
g B
g
]
— A
, O V (volts) -
(a)  Which one of the graphs represents the series combination of Ry
and Rg ? < | ;
(b) - Which one of these graphs represents the parallel combination of
! | 1
Riand Ry ? ,
(¢) (1) Show an arrangement of three resistors, each of resistance
10 Q, so that the combination has a resistance of 15 Q. Give
justification for your answer. ' : 2
OR .
(c) | Gi) A battery of '6 V is connected with a series combination of
’ five resistors of 01 Q, 020,030, 04 Q anfl 0'579- fi(’;yv
much current would flow through the 0-3 Q resistor 7 Justl ,
your answer.
(27 B
#31/3/2*
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